
Install Instruction

�����

www.camerich.com E-mail:info@camerich.com
Tel:86-10-61586106

Beijing Triumph Furniture Co.,Ltd.

��	
��
��101103
DaDushe,TongZhou District,Beijing,China

������������

STILTS-06
C04A1906.



STILTS-06

���� ����

� !��

�� ��

��

���� �	 
��


��

���� ��

��"#$%

1

A

1 4/1 4/&'()、� ! +,'

&'

2'

578'

:;8'

<'

MM

MM

MM

MM

MM

MM

+,'()、=>'?)、8'()

2'?)、<'()

@B

2

B

F

2 4/2 4/

3

C

G

3 4/3 4/

4

D

H

4 4/4 4/

E

I

8

1

24

8

22

1

4

4

8

1

2

3

4

5

6

1200*402 *26

1368*400 *60

1368*1078*18

1078*372 *26

912 *535 *18

1075*335 *18

2

2

1

1

2

2

JKMN,PQ

RPUV,M8*16

PXYZ[,M5PXYZ[,M5

\]?（ ）DTC

1552A+8234+K010

��，\]?（ ）DTC

1552A+8234+K010

��，

`a,M b10*40,2000/`a,M b10*40,2000/

cde, f， h!4*16, 1500 /cde, f， h!4*16, 1500 /

STILTS<i

jPU，M6*16jPU，M6*16

8'k,D58'k,D5

J 1PXYZ[,M4



C04A1906.

1

25X4

A B C D E G HF I

M8X16 M6X16M5 10X4015X15 5<i PQMNM4X16

A

B

Bl�

J

M4



C04A1906.

2

C

D

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

1

\]?m��

J

M4



C04A1906.

3

C

D

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

1

J

M4



C04A1906.

4

G

J

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

J

M4



C04A1906.

5

C

D

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

2

2

3

4

no

pq

\]?r��

J

M4



C04A1906.

6

I

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

J

M4



C04A1906.

7

F

E

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

5

5

<i��

J

M4



C04A1906.

8

E

H

A B C D E G HF I

M8X16 M6X16M4 10X4015X15 5<i PQMNM4X16

6

J

M4


